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We have discovered an error in the final equations of the paper. There is a color factor missing[D8Egad(D9). They
should read
ijkr = 3(ORjirOLkir + OLjir ORicir)

u nus UnS nus uns
ijkr = 3(OLjkr OLkir T ORrjkrORKir) (D8)
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Because of this error the loop masses for the neutrinos, mainly the magsast slightly larger than shown in Figs. 2—6 in
the paper. However, our conclusions are not affected by this change.

Apart from this error we noticed a number of minor misprints in various formulas in the paper. None of them appear in the
numerical code and thus, none of the misprints listed below change our results or conclusions.

Equation(12) should read
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There is a misprint in the (1,1) entry of EGA3). It should read
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In Eq. (A6) the complex conjugates should not be there. It should read

1
MER:E(UdAE_MvuhE)- (A6)

In Eq. (A8) there is a factog missing in one of the terms. It should read
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There is a misprint in EqUAL16). In the (2,2) entryv /v, should be replaced by /v, .
In Egs.(A33) and(A34) the following replacement should be made:
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In Egs.(B9) and (B13) the couplingsOit5, and Of; should read

g
RiK=— (T (Nj2+3 tanawNu)R Lim (h*)mIR +3IRL| mNja, (B9)
g Tk
Ollj??jsk_(7)(N12 3tan0Wle)R L|m (hg)mlRE,l+3REi,mNj3- (813)
Equation(B43) should read
L=x; (Ofh+OgM)x; SO+ 3xP(O] T+ ORI x)S.°. (B43)

In Eq. (B44) ¢; should be replaced by;.
Equation(D6) should read
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